U FEFEYAYT 8R04A (XkF=15)

U FEFEYAYT 8RA04R (kF=15)

= 15 BETRAEE = 15 RN —=2 Tt 8—
a—k A O—hk B d—k a—k cC O1—hk D O—k
poll-i4 BN & — B 5 x B — B 5 B = H — RikJ |=FLEAE — i %
TO =HS RO&E T O x #® H H
1 9:00~ 9:00~
asyiat— ¥ROAE =HS aswia— H H ESES
= ¥ =HS YSO R4 =l = ¥ x & LT H H (=
*f B H & — NEXUS =HSs — W& *xt B i) — = 8 = # — H H
TO B g n & TO RiRkJ & A
2 | 10:00~ 10:00~
a3yiat— N & BB a3vyiaF— £ B RikJ
=z ¥ BB “EES| B & * B = ¥ KiEJ EILE = H ZIL
* B YSO — th M | =ETES — X B8 * Ef p: NN i — 7 & EILE —  EUEAE
TO B & NEXUS TO i) = B
3 | 11:00~ 11:00~
a3yiar— NEXUS H O£ a3yar— = # i
= H H &£ B2k NEXUS B % = H 7 D2 = i %
* B A28 — B2& — *xf B Cc28 — D2& —
TO =HEE TO EILE
4 | 12:00~ 12:00~
J3yiat— ZHHES asviat— EILE
= ¥ | =EEA A1 = ¥ EILE C1p%
X B A1 — A28 B2 — A3 xt BE C1HE; —_ C2hk D2 — C3
TO A3E B % T O C3& i %
5 | 13:00~ 13:00~
asyiad— E 5 A3H azviaf— i % c3&
=z ¥ A3E B2& B % A8 = ¥ C3& D2& I % Cl1&
B A18 — A3E i: 3 — ZHES B C1g — C3f& i % — EIUER
TO x B A3 TO peAINE 7] C3j%
6 | 14:00~ 14:00~
a3yiar— A3 *x B a3yar— C3j% LT
z # X B B & A3 NEXUS £ # BT il C3% = #
B ASRE — B5k A58 — B5& poll-34 C5kk — D5 C58§ — D5E&
TO A6HE B68& TO c6& D6&
7 | 15:00~ 15:00~
asviar— A1&-A38 A2&-B28& asvyar— C1&-C38 C28&-D3&
E= ¥ 54 4 B4 54 = #H cef i E D68 B4

MR AR E5-(1)-5-(4)-5-(1)-5, A= 74+—LIXFEARLT S
NKEH, Ay aF—REBICTELAVESE KR AR, TELRWMESIXAZSYIat—LLETEINTY—IUTAII VAT EFL TS,




